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Make sure to INCLUDE UNITS!

1. The simple pendulum shown below is initially held in place by a horizontal rope, making a 42o angle to the vertical. The mass of the pendulum is 15 kg, its length is 2.5 m, and it is attached to a point that is 5.2 m above the floor. Answer the following questions about the pendulum.
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a. Determine the tension in the horizontal rope.

The horizontal rope is cut from the pendulum and it starts to oscillate in simple harmonic motion.

b. Find the frequency of the pendulum
c. Determine the pendulum’s maximum velocity.
d. Find the tension in the pendulum’s string when it is at the lowest point in its swing.










Answers:
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L The simpe pendulumshown below i ntially hld inplace by ¢ horzontl
ope, making 342" angle o the vertcal. Th mas of th pendulum i 15 kg,
oot is 2.5, and s aached 0 poin that s 5.2 sbove the floor.
Answer the fllowing questions aboutthe pendulim.

ia

5. Detemin the tcnsion i the orizontal 1o,

The horizontalrope i cut from the pendalum and it trts o ascillae i simple
harmonie motion.

. Findthe frequency of the pendulum

< Detenmine the pendulum’ maximum velocy.

& Find th enson n the pendulun's sting When it at he lowest pint
s swing




